4

THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

16X M3 SCREW,RECOMMENDED RATED VOLTAGE: 500V
TYPE 1, 12040162201-000, TE LOGO TIGHTENING TORQUE 0.5Nm RATED CURRENT: 16A
#8 |,T2040162201-000,TE LOGO 16X M3#% ##4EHE) 5Nm INSULATION RESISTANCE: >=400MQ)
RATED IMPULSE VOLTAGE: 6KV
POLLUTION DEGREE: 3
FLAMMABILITY: UL94V-0
MATING CYCLES: 500 CYCLES
WIRE RANGE: 0.5mm2~2.5mm2 (AWG20-AWGI4)
i FE CONTACT TYPE: SCREW CLAMP (M3)
on
™ R
| HASH
wagms . PC
4X M3 SCREW,RECOMMENDED TIGHTENING TORQUE 0.5Nm gEReE: 500V
4X M3B#z #FHEAHE0 . DNm Hedm: | 0A
ggmE - >=400M0O)
M4 SCREW,RECOMMENDED TIGHTENING TORQUE | .2Nm gzzif gKV
MAsg#  ##aEn%E ] 2Nm asen . 0L 94y-0
| BHRi#: 500 %
5 68 5 — 1 2 3 466 7_8 4$;7r 4B 0. 5mm2~2. 5Smm2 (AWG20-AWG | 4)
0 ‘ 0 BaxA - BuEE (M3)
F4InY M P A\ N - ] L o~
i » ¢ e oot T~
— ‘ - )\ OOy
ﬁi ' 9 10 11 1213 14 15 16 eﬁgﬂ
| | |
#y i a, 7.5 _J
17.5
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN TOAPRZ0TS
PANEL CUT FOR INSERTS FOR USE TG _—TE TE Comnectivity
W ‘ THOUT HOODS/ HOUS ‘ NGS DIMENSIONS: TOLERANCES UNLESS CHRIS WANG
Mg ALY 4 sh it e LA ' OTHERWISE SPECIFIED: |APVD I5APRZ201S [ NameE
mm XTANG XU HE-016-F
0 PLC +- PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNGPLLECS +- . 1 w 47 W 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERTAL FINISH ] WEIGHT - A300779©‘:T2040162201000

REVISTONS
P TR DESCRIPTION DATE DWN | APVD
A INITIAL RELEASE 15APR2015 | GY |CW
B ECR-15-013759 28SEP2015 | DW |[CW
R1 ECR-16-011988 27AUG2016 | YO |[CW
R7 ECR-16-017834 21DEC2016 | YO |CW

NOTES:

| TECHNICAL CHARACTERISTICS:

INSULATION MATERITAL: PC

CUSTOMER DRAWING

SCALE

SHEET 1 OF

101

RE\/B 2

1470-19 (3/13)




4

THIS DRAWING 1S UNPUBLISHED.

RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

TYPE 2,7T2040162201-001,NO LOGO
#22 2,72040162201-001,%&LOGO

REVISTONS

DESCRIPTION

DATE

DWN APVD

SEE SHEET 1

NOTE:
ALL SPEC REFER TO TYPE |

V% =
rAFaHEEE TYPE |

|
1 3 45 6 7_8 {ﬁ?
[ AR 1
0600000
e e B e
)OO CHOIT
9 10 11 12713 14 16 18 - T2040162201-000 | HE-016-F ﬂ%jglg géMALE INSLRT TYPE |
|
T2040162201-001 | HE-016-F | e 0 0 LMALE TNOERTNOLOGO) rype
PART NUMBER PART DESCRIPTION TYPE
T ¥ # A A
THIS DRAWING IS A CONTROLLED DOCUMENT. |OWN I5APRZ20TH
CH%INO YAO15APR2015 - TE TE Connectivity
PIMENSTONS: OTTHOELREWRIASNECESSPEUCNILFEISESD' AP%DHRIS WANWG5APR20W5 NAME
mm - LXTANG XU HE-016-F
0 PLC 4- PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNGPLLECS +- 1 w 47 w 37044 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH ] WEIGHT - A300779@ET2040162201000 -
- - CUSTOMER DRAWING SME %5 "B D

1470-19 (3/13)




	Sheet 1
	Views
	new_view_5
	new_view_8
	底部_10
	new_view_11
	顶部_12
	left_13


	Sheet 2
	Views
	new_view_15
	new_view_16
	left_17
	bottom_18
	top_19



